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lagr_asym_us_avg RMS (ppm)
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1D pull distribution

0.01296 + 0.1485

Mean

1.091+ 0.105

Std Dev

Underflow

Overflow

274617

X2 / ndf

9.99 +2.00

Constant

0.06651 + 0.17358

Mean

1.128 +0.192

Sigma

64.32 /53

X2 / ndf

o~ o

+177.2
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lagr_asym_usr RMS (ppm)
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1D pull distribution
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lagr_asym_usl RMS (ppm)
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1D pull distribution

-0.008159 + 0.131

Mean

0.9627 + 0.09264

Std Dev
Underflow

Overflow

3.391/7

X2/ ndf

12.29+ 2.30

Constant

0.0002787 + 0.1416495

Mean

0.9024 + 0.1275

Sigma

ﬂ

12

50.05/53

X2 / ndf

0

8

.32 +122.

21

p

lagr_asym_us_dd (ppb)

PR
o 1111

'69.1
€'69.1
269V
L'69.Y
0'69.1
G'89/1
'89.L1
£'89.V
289V
L'89.Y
0'89/1
v'L9Lv
L9V
219y
[ WAYAY
0',9.V
£'99.1
2991
99y
0'99/1
'S9LY
€659V
2'S9LV
LG9y
0'G9.V
VLY
L v9Ly
0'v9.LV
'€9L1
€LY
2€9LY
L€AY
0°€9LV
2oLy
0'¢9LY
S 19V
' T9L1
€19V
219V
19y
0’19V
'09.1
€'09.1
2’09V
09y
0°09.¥
[ WASTAY
0',S.v
'9S.1
9GSV
2'9S.v
96y
0°9G.v

3000 —
2000 —

1000 |—

o

-1000

—200!

-300!




lagr_asym_us_dd RMS (ppm)
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